PRZEKROJE POPRZECZNE

ul. Ogrodowa w Suwatkach
skala 1:100

LEGENDA:

W=WYKOP
N=NASYP
Wym=WYMIANA GRUNTU

PROJEKT DROGOWIED

LUKASZ MILEWSKI——

PROJEKT DROGOWIEC

tukasz Milewski
15-333 Biatystok, ul. Zwierzyniecka 10 lok.7
projektdrogowiec@gmail.com

PDL/BD/0131/10

tel. 505-031-332
Skala:
Nazwa rysunku: | PRZEKROJE POPRZECZNE 1:100
e ul. Ogrodowa w Suwatkach Data:
Obiekt: VIL 2015
Nr rysunku:
Stadium: PW 4
Branza/Projektant: Podpis
DROGOWA:
Lukasz Milewski
PDL/0098/POOD/11
PDL/BD/0030/12
Piotr Jakubecki
PDL/0037/POOD/10
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